Employability Skills | USRIR Flerer @www.omgfreestudy.com (English+f@<d))
ITI 1st Year, For All Trade | Unit 5- Maintaining Efficiency| HI&eredl S=1¢ @

1 A worker helps bring the best output by using the
available resources. Such a worker is called

UF HRIGAT 3Tl HATUAT T 3UAIT F& FafcdH
3cUTe ol H FGE HAT &1 U FISAT Hr

el AT 8l

A Ineffective 3T9HTdY

B Productive 3cdigeh

C Bad g0

D Selfish ¥areff

Answer: B

2 Who gets the benefit of increased productivity?
9 §$ IcUTehAT T @ HY Aerr g2

A Government iR

B consumer/worker éﬁ&@?/ﬂ?;i{{

C Bussiness IR

D all of the above FUX & T

Answer: D

3 One can be efficient at the workplace, if he/she__.
HIEEUS W IS FAT & Fohell &, Ie aB_|

A Is punctual IHT & UTeE §

B Follows rules faIAT &7 9relet aam &

C Follows safety procedures {R&il Gfsha3il 1 drelet
AT §

D All of the above FWR & HY

Answer: D

4 Safety includes
AT &l

A Proper housekeeping 3Tad gr3aehifder

B Proper storage and handling of tools and
equipment 3SR 3R 30l &1 3T HSROT 3R
HaTelel

C Use of appropriate PPE 3uged W &I 3ugrer
D All of the above FWR & &efr

Answer: D

. RET H
o)

5 Growth of an organization, is growth of
Teh Haroel T faehrd, &1 gig &l
A An economy 3dcTaer

B A political party Ts ITSiifae ol
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C A labour union T Hslgy &
D None of the above 378 & #I$ off &

Answer: A

6 The economic growth of a country is

forelt Ser & 3nfdes g g gl

A Increase in the population SereeEar # gig

B Increase in the production of goods and services
3T AR Q@13 & 3cueT H g

C Increase in size of families aRART & 3R & g
D None of the above 348 & #s off AT

Answer: B

7 Work becomes more efficient with .

A % ATy 3 F2AS g AT &

A Population growth SHET gig

B Expansion of trade unions ¢8 I« & fa&dR
C Teamwork and collaboration && a& 3R ggAT
D Becoming a developed country fasfad &r Sofar
Answer: C

8 Expansion of GDP .

GDP &I fa&dR |

A Gross Domestic Product IITq 3AEes Hisae
B Good Domestic Product [ SiR¥es Hisac

C Great Domestic Product 3 3#Tesh WsdT

D None of the above 58 & :Is off AT

Answer: A

9 Economic growth is measured by the increase in a
country’s total output or real .
3T TR HT S & Fol IcUIeA I AEATdR
# gig ¥ AT S g
A Increase in the population SeHEdT # ghg
B Gross Domestic Product &ehel Ee] 39S
C A political party T& JSTAIfdes ol
D Expansion of trade unions €8 I« & faEar

Answer: B
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10 The process of transforming ourselves for a better
physical, social, intellectual state is called

T dgR AR, amafoe, sifge saear & fow o
FI deola T gfehar ar FEl ST &l

A Union member & de&g

B Good working 3[s dfehar

C Personal growth saf@dera fasra

D None of the above 3WRIFd & & FIg =TgT

Answer: C

11 The effort taken to learn new skills and
technologies, helps to .

AT igrer AR ief@fear o daa & fow foear =
EpIe: T HGG T gl

A Grow in our profession AR 92 & gfg

B Become a union leader T ¥Y T &af

C Be close to political leaders TsTaifdesr A3 &
w9 @

D None of the above 3WFd & & HI$ Tgr

Answer: A

12 Team work helps to

aF TH H Hag T Bl

A Learn from peers @faar & @

B Collaborate with other employees 3=g &HAAIRAT &
AT AT FL

C Be efficient at work ST H FUST ol

D All of the above 3Wied &

Answer: D

13 Pomodoro is a technique that can be used for
QIASRY U dhellsh & Tordeh 39T & fow
frar o F&ar Bl

A Working in teams &#AT & A HLAT

B Mechanical jobs Iif3s stsRar

C Time management THT Yaul

D Making machines do the work SaTel arell #eflel FHFA
FAT &

Answer: C
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14 Pomodoro is the Italian word for
TAERY & fav sarerdr oeg gl
A Tomato THICY

B Potato 3iTe]

C Brinjal §3TeT

D Onion ©Irat

Answer: A

15 How many stages are there in Personal Growth

z e & Fada wor @ §
A Two ar

B Three =

C Four IX

D Five 9r@

Answer: D

16 Transforming ourselves for a better physical,
emotional, intellectual, social and financial state is

Teh dgaX AR, HadcHSH, sifgen, FATes AR
e ufd & fow ge &1 seeer gl
A Company's Growth &UsiT & farE

B Personal Growth cafedera faema

C Economic Growth 31fd& e

D None of the above 3WFd & & FI$ TgT

Answer: B

17 As organizations grow, they need to

S-S oA ded &, 306 & 3TaRISHAT
g &1

A Become satisfied with the existing technologies
HiSIeT dhelia & TS 8l

B Stay updated with changing technologies scerdr
el & 33T

C Use manually operated technology 3’-\F§3-17~r E i
HaTfeld deelleh T JAT HL

D None of the above 3WFd & & FI$ TgT

Answer: B
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18 As technology changes, organizations need to

S-S HiePhr & aRade giar §, @erear &
& ILTHAT gl gl

A Buy high-end machinery 3Ta 3id A @<

B Train employees periodically THI-TFT W HFAATRIT
ar gfafara «Y

C Conduct safety training for employees Fa=TRAT &
fore grem gfreTor JmAfSId AT

D All of the above FRR & T

Answer: D

19 Identify which is not a good practice people
management__.

Jgdlel ST Ush 37TOT 31$ATH gl § olldl Jaeel_ |

A Involving employees in the development of
business TG & T H FAATRAT P AMTHS BT
B giving memo for every mistake g Teldl & folw &AT
&t

C communication with employees &HaIRAT & ATY
AR

D offering employee leave Sa=RT BT T gerher
Answer: B

20 Once the problems have been identified, we need
to break them down into simpler elements becasue
we can the solutions.

FHEATIN T ggD B S & SIE, §H 3¢ W dedl A
AoTIT FXA T TaTHAT & FIifh g AT
T ¢

A change aRada

B identify ggdre

C criticize 3fTelrg=TT

D remove §eI3ir

Answer: B

21 Filling out a form by answering questions is a
part of .

Tarell & AT AT B SRAT & TH e
gl

A Accounting a&@r

B Costing ITecaT

C Exam 9iem
D A questionnaire survey Teh 9ATdell Tdafor
Answer: D

22 The challenges faced by migrant workers are
__ any other workers.

YA HIFAIMRT & WHA 3 dqlell Iollfaidl 3 HIHAITRT
¥_ g gl

A much more than Sgd 3eH

B same as & HHA

C not as important as 3d«TT HEcaqul &l &

D all of the above 3TRiFd Tr

Answer: A

23 One of the key reasons identified as affecting
migrant labourers most is )

JARH HIel F FIH STl FHTAT A dTel Jo@
®RUT F ¥ TH gl

A Lack of literacy HT&RAT T ST

B Bad habits T 3mec

C Laziness 3Teldd

D Forming groups ®#g selTell

Answer: A

24 1t is the responsibility of the _ to provide
water, power and other basic facilities to the
workforce.

FEE I T, fsrell 3R 3= gy glawurd ger
AT Fr SEAery gl

A Government (R

B Employees FHHARY

C Management &HART

D None of the above 3WFd & & FI$ TgT

Answer: C
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25 When workers are migrating, companies should
conduct .

9 HfAS g X 3§ 81, df HIidr FT

ATl T AT

A a formal induction programme 3{gaTites 9oT
FAHH

B a safety training programme Ush {I&T gfereoT
FAHH

C a cultural programme Teh HIEhicieh Hdshe

D an informal meeting T& 3=ITaTie d&&h

Answer: A

26 is helpful for collecting employee feedback
and understanding them.
FAIN gfafhar ted et 3R 305 FHse 7
e &
A Employer surveys faierdr adeor
B Employee surveys &Rl Hd&ToT
C Product surveys 3cdre Td&for
D Process surveys 9fshar Fd&ToT
Answer: B

27 Lack of productivity is a serious threat to any
society. It is caused by waste of __

3cUTGehdl H AT fHET o FATST & fov T MR o
€1 g __ T §eier & HROT BT g

A Time d&d

B Resources HdTHA

C Investments faaer

D All of the above 39Ued &Y

Answer: D

28 When a company is not productive, it has a
effect on its employees and society.

SIS FIS HYAT IcUCH Ael gl §, o TP 3Th

FADRIAT 3N AT W 91T 93T &

A Negative dhRTcHAS

B Positive difafea

C Neutral de&y

D moderate #EIH

Answer: A

29 Irresponsible employees of any company create

Rt off el & -TFAeR gy _ §ad 8l
A Loss to the company &YeiT @I ©TeT

B Affect the environment 93TaRoT &t TeTTfad T &
C Waste resources 3aferse garge

D All of the above 3Wiard &Y

Answer: D

30 Low productivity leads to .
FH 3cqGehdr T 3R of ST B
A low employment &H TSR

B low investment &# faaer

C low saving &H §ad

D All of the above 39Ued &Y

Answer: D

31 Maintaining and improving productivity is a
process.

3cUIEshdl I TAV IWAT AR GURAT Toh _ Tishar g
A Quick st

B Temporary 1€

C Continuous ddd

D One time de TISH

Answer: C

32 Efficient productivity improvement techniques
ensure ___ .

TS 3cUGHAT GUR deheileh _ Glafad s 8
A Individual’s growth aferd & gig

B organization’s growth T3T&+T &1 faerr

C both an individual's & organization’s growth caf&d
3R e GiAr 1 9

D none g gr

Answer: C
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33 What are the characteristics of workers who focus

on productivity improvement? e
! ! g IoT & &
Wwwam?%ﬁmaﬁmﬁ ﬁ%ﬁwmﬁ

AT Far %? ® If you wish, you can help the

channel in the form of a donation.
A Teamwork & a&

B Vision fastet Open Mind Guruji
C Goals o&g

D All of the above 39qed &Y

Answer: D

34 Productivity is the __ of production systems.

3c9TeahdT 3cdiee Yomferar &1 &l

A Measurement HYsT
B Efficiency g&rdr
C Both measurement and efficiency #TT 3R g&Tdr

AGH
D None of the above 3WFd & & FI$ TgT e faary 78t
Answer: C Note: Not Compulsory.
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